Numatic International Spare Parts

Internal Code:

Model No: HEAD STYLE 34 STATIC DISSIPATIVE - EXPLODED DRAWING PRO

NB: FOR WIRING SEE DRAWING: DRW-22515

903567
DRAWING: DRW-22346
20/03/2018

ISS:A15

Numatic International Spare Parts

Model No: HEAD STYLE 34 STATIC DISSIPATIVE - EXPLODED DRAWING

ITEMNO. | PARTNUMBER DESCRIPTION QTY COMMENTS:
1 904997 HANDLE BASE 3 INSERTS 1
2 904832 HANDLE COVER 2-SWITCH HARD WIRED 1
3 219546 M5 X 20MM LONG POZI PAN SEMS SCREW 2
4 219107 NOG6.5/8 INCH LG.POZI-PAN.SCREW.Z/PL.PLASTITE 6
5 219090 M4 X 8MM LONG POZI PAN SEMS SCREW 3
6 219687 M4 STAINLESS STEEL NYLON INSERT NUT 1
7 291145 M4 SHAKEPROOF WASHER STAINLESS STEEL 1
8 907391 M4 A2 S/ST FLAT WASHER DIN9021 (REF: WAWSFM400X500) 2
9 903469 M4.16 MM LG.TAMPER PROOF-PAN.SCREW.STAINLESS STEEL 1
10 903468 SPACER 4.3X8X6 1
11 906687 BOTTOM MOTOR HOUSING (STATIC DISSIPATIVE) ECO SIMPLEX 1
12 205840 230V SINGLE STAGE THRO FLOW FAN MOTOR (DLI 653T) TCO (620) 1
13 907885 MOTOR CONTROLLER + AUX 1
14 219369 No8 X 1 INCH LONG POZI PAN STAINLESS STEEL PLASTITE SCREW 6
15 219370 No8 X 5/8 INCH LONG PLASTITE STAINLESS STEEL SCREW 13
16 237069 LED HOLDER (DUSTCARE SYSTEM) 1
17 220967 LENS COVER 1
18 219567 SPIROL SPACER 2
19 299018 ECO GRILLE INSERT 1
20 237089 BOTTOM MOTOR GASKET - CUP MOTOR 1
21 227885 MOUNTING RUBBER 2
22 903461 NES PROCESSED TOP MOTOR HOUSING 1
23 219139 M4 NUTSERT 2
24 219622 M4.35MM LG.POZI-PAN.SCREW.Z/PL 2
25 219015 M4 SHAKEPROOF WASHER 2
26 902075 CUP MOTOR MOUNTING SPACER 1

COVER MOULDING SINGLE GRILL (STRUCTOFOAM BLACK)
27 904101 PROCESSED FOR DUPLEX SINGLE STAGE MOTORS, 2 FUSES AND 1
SHUKO SOCKET
28 901679 MAINS CABLE.BLUE.10000.1m5.3.EURO PLUG.STRIPPED 1
29 220015 STRESS RELIEF 1
30 220131 CABLE CLAMP 1
31 206573 SWITCH COVER (PLUG HANDLE) 2
32 221420 FUSE HOLDER 2
33 230162 EURO SOCKET (A1461000 EUROPE) 1
34 219407 M4 X 16MM LONG POZI PAN COUNTERSUNK SCREW 4
35 230166 SOCKET GASKET 1
36 219083 M4 NYLON INSERT NUT 4
37 208263 TERMINAL BLOCK (3-pole 16A) 1
38 220582 GREEN ROCKER SWITCH (WHITE PRINT) 0-1 1
39 220552 RED ROCKER SWITCH (WHITE PRINT) 1
40 227629 SWITCH MOUNTING BRACKET 1
41 ) FUSE 5x20mm (15 AMP, CARTRIDGE TYPE, TIME LAG, CSA 9 CONTACT NUMATIC
APPROVED) FOR DETAILS




	Sheet1
	Drawing View2


